thS oA gABCD = HaAtEH ot}
AB = 12cm, BC = 16cm € o, bABCD 2]
Blo]= oEBFD 9] Hol9] & uj]l7}?
1
O 24j @ 44} ©) 3
1
@ 1 ® 34|



ohg 2ol FPAAPABCE ©] A AolA BC, CD o Wl
o 7}z

9rS 7V E, FeF ol AE = AF Y o], o0 ABCD = @ At
717

A D

® SRAGEZE @ FAAAY ® A7t

ofll



Hn
i

o
Wt

%
<

Tom

)
mmo

op

B
N

1

® 34

2

T
ZA,

® ntgw



4.

th2 1™ AABC A DE//BC °o]iL
AD : DB =5: 29|t} AADE 9] Yo
7} 25cm? & wf, ADBC 9] Hol=?

@ 10cm? @ 11cm? @ 12cm?

@ 13cm®> © 1l4cm?

os,

Q



oS 292 A48 V- ABC & 2H
FYl HC R 22 Holth, aA'B'C =
27 cm? 4 o, AABC 2} aAA”B”C” 2] 0]
£ HIEA 18 A2

24 2
AABC = ?3 cm?, AA"B"C" = §7 cm?

24

AABC = —83 cm?, AA"B"C" = gch
24

a0 = 2 s e = O

162 9
AABC = o cm?, AA'B"C" = 1 cm?

®© ® 0 0 ©

243 27
AABC = Ve cm?, AA"B"C" = T cm?



